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1. (Burning the Bridge) Army 1, of country 1, must decide whether to attack Army
2, of country 2, which is occupying an island between the two countries. In the event
of an attack, army 2 may fight or retreat over a bridge to its mainland. Each army
prefers to occupy the island than not to occupy it; a fight is the worst outcome for
both armies. Model this situation as an extensive form game and show that army 2
can increase its payoff by burning the bridge to the mainland, eliminating its option to

retreat if attacked.
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2. (Swing voter’s curse) Whether candidate 1 or candidate 2 is elected depends on the
votes of two citizens. The economy may be in one of two states, A and B. Both citizens
agree that candidate 1 is the best if the state is A and candidate 2 is the best if the
state is B. Both citizens obtain a payoff of 1 if the best candidate for the state wins (i.e.,
obtains more votes than the other candidate) and a payoff of 0 if the other candidate
wins; if candidates tie then both citizens obtain a payoff of 1/2. Citizen 1 is informed
of the state while citizen 2 believes it is A with probability 0.9 and B with probability
0.1. Each citizen can either vote for candidate 1, vote for candidate 2, or not vote.

(a) Formulate this situation as a Bayesian game.

(b) Show that there are exactly two pure strategy Bayesian equilibria: in the first one
citizen 2 does not vote and in the second she votes for candidate 1.

(c) Show that one of the player’s actions in the second equilibrium is weakly dominated.

(d) Why doesn’t citizen 2 vote in the first equilibrium?




